



$$\textcircled{1} \lim_{x \rightarrow -4} f(x) =$$

$$f(-4) =$$

$$\textcircled{2} \lim_{x \rightarrow 3} f(x) =$$

$$f(3) =$$

$$\textcircled{3} \lim_{x \rightarrow -2} f(x) =$$

$$f(-2) =$$

$$\textcircled{4} \lim_{x \rightarrow 5} f(x) =$$

$$f(5) =$$

$$\textcircled{5} \lim_{x \rightarrow -3} f(x) =$$

$$f(-3) =$$

$$\textcircled{6} \lim_{x \rightarrow -\infty} f(x) =$$

$$\textcircled{8} \lim_{x \rightarrow \infty} f(x) =$$

$$\textcircled{7} \lim_{x \rightarrow \dots} f(x) =$$

$\textcircled{9}$ Let g be the function